FAB Series

~ FAB042
~ FABO60
~~ FAB090
~ FAB115
~ FAB142
_~ FAB180
~ FAB220

FAB

Series

SEIKO QUALITY

SHARED GLOBALLY

BLmbi £kE=E

003




&1 =354 88 MODEL ILLUMINATE

rrrrrr

AENEE, U emREE.

FAB042/FABO60/ FAB09O Do S1: FBE
FAB115/FAB142/FAB180/FAB220 Lo S2 : Mt EsH
IR LL :
BA(L1):3,4,56,7,810

Wk(L2):12,15, 20, 25 30, 35, 40, 50, 60, 70, 80,100

_______________________________________________________________________________

%G HI: FAB090-10-S2-P2 / MHMD-082G1U

___________________________________

kRS

___________________________________

Pl : #5Eke
P2 : tRAEEE

004



ﬁﬁ% -FAB :ﬁ-&ﬁm

3 130 1140
4 19 50 140 290 542 1050 1700
s 5 22 60 160 330 650 1200 2000
L1 6 20 55 150 310 550 1100 1900
7 19 50 140 300 550 1100 1800
8 17 45 120 260 500 1000 1600
N 10 14 40 100 230 450 520 1220
BUERH TR Toy Nm 12 20 55 130 208 342 588 1140
15 20 55 130 208 342 588 1140
20 19 50 140 290 542 1050 1700
25 22 60 160 330 650 1200 2000
30 22 50 130 208 342 1200 2000
350 22 50 160 300 650 1200 2000
R 40 22 50 140 290 542 1200 2000
L2 50 22 55 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900
70 19 50 140 300 550 1100 1800
80 17 50 120 260 500 1000 1600
100 14 40 100 230 450 520 1220
ERHENNLE T Nm | LiL2 | 3-100 3 EHEREAE
B NEEE N, rom | L1.L2 3~100 5000 5000 4000 4000 3000 3000 2000
BABNERE 0, rom | L1.L2 3~100 10000 10000 8000 8000 6000 6000 4000
R | B 3~10 = = <1 <1 <1 <1 < 21
BIREHR PO aremin e g 12 | 12-100 _ <3 <3 <3 <3
B 3~10 <3 <3 <3 <3 <3 <3 <3
HEHR P1 el R L2 12~100 <5 <5 <5 <5 <5 <5 <5
| B 3~10 <5 <5 <5 <5 <5 <5 <5
TR P2 aremin aem 1o | 12-100 <7 <7 <7 <7 <7 <7 <7
EERNITE Nmiaromin|  L1.L2 3-100 3 7 14 25 50 145 225
BUFRE S Fr N L1.L2 3~100 780 1500 3250 6700 9400 14500 50000
A S] Frug | N 1.2 3~100 390 765 1625 3350 4700 7250 25000
A% hr L1L2 3~100 20000 °
N EV R 3-10 > 07%
BE 1 % @2 | 12-100 > 94%
_ BR L1 3-10 05 13 3.7 78 145 29 48
Eh- kg
W L2 | 12~100 0.8 1.9 4.1 9 175 33 60
FREE © L1L2 3~100 —10°C ~+90°C
AR L1.L2 3~100 SEUEE IR A 5iRR
B R L1.L2 3~100 IP65
ZEEHH L1L2 3~100 ERAE
1$18 (n,=3000rpm) | dB L1.L2 3~100 <56 <5 | <60 | <63 | <65 <67 <70

182 -FAB &
| @ % ] % u | s | FABOM2 | FABOSO | FABOSO | FABITIS | FABI42 | FABISO | FABZ20.

0.03 0.16 061 3.05 9.21 28.98 69.61

4 0.03 014 0.48 274 754 23.67 54.37

5 0.03 013 0.47 271 7.42 23.07 53.07

g 5 0.03 013 0.45 265 705 22.75 51.72

7 0.03 013 0.45 262 714 2248 50.97

8 0.03 013 0.44 258 7.07 22.59 50.84

10 0.03 013 0.44 257 7.0 2251 50.56

12 0.03 03 013 0.47 271 7.42 23.09

15 0.03 0.3 013 0.47 271 7.42 23.29

. e 20 0.03 03 013 0.47 271 7.42 23.09
wHRE kg + om 25 0.03 03 0.13 0.47 2.71 7.42 23.09
L 30 0.03 0.3 013 0.47 271 7.42 23.29

35 0.03 0.3 013 0.47 271 7.42 23.29

40 0.03 03 013 0.47 2.71 7.42 23.09

50 0.03 0.3 013 0.44 257 7.03 2251

60 0.03 0.3 013 0.44 257 7.03 22,51

70 0.03 03 013 0.44 257 7.03 2251

80 0.03 0.3 013 0.44 257 7.03 2251

100 0.03 0.3 013 0.44 257 7.03 2251

1L (=Ni/Noy ) 2. HiEEE 100rpm B, {EAFad PO LE 3 ESEHERERET 0z —

005



5 R~FE% /OUTLINE DIMENSION SHEET

FAB-042-L1

BN/ INPUT %65 $1411%/OUTPUT
26 60.5
" 195 |4 "
| — N\ i
P.5 14 J !
O~ X .| | O ¢
© gl s |1 — 17T g8
9 1 sl S 0 B -
©, 10 1
eqé' ¢ I | 4
K| & | |
|
b4 © N
1 5.9 26
4-M4x10
FAB-042-L2
s 110 e
NG/ INPUT % 7 HHi%/OUTPUT
42 19.5 4 Y
— Y
® I >< 2.5 14 J }r
& @]
° ~ ¥ e— e I -
s | o | B4 — + — s
© % 2 10 i A
QX< \8( 1 - }—
' 2
4-M4x10 2.
HH R
5h -
T M4x0.7P
E j wl_
@13h6
MR ST RS2 N
* g WANDRERRY R TR SR,

*The input motor specific dimensions could be customised,

006



5 R~FE% /OUTLINE DIMENSION SHEET

FAB-060-L1

BN / INPUT c9 i / OUTPUT
37 c8
G 285 6
/»\ \%\ B2 &
P~ =] —- 7 3
; . 15
4] & 15 . L | c6 &
[
I
[ 7
c2 S5 C10
c4
FAB-060-L2
BN / INPUT i / OUTPUT
c9
37 c8
285 5
5 | B2 i &
- i
g = - i -itelE
. 15 |
¥ 5 I C6 &
[ |
I
| 7
c2 C10
c4
HHHE
RY C1 C2 C3 C4|C5|C6|C7|C8|C9|C10
Be FAB-060-L1 785 1155 55
—1 amosoLs 297 4-M4x10 68 34 @31 5 60
t M5x0.8P M5x0.8P H = . b 5
2 /é; FAB-060-L1 785 1155 55
\D NT/ @70  4-Mdx104-M5x12 @11,014 34 ©50 5 60
FAB-060-L2 107.5 1445 55
@16h6 @16h6
FAB-OBO-LT o0 aMsxi24Mext4 @19 42 @70 65 8o o0 122 12
= = -M5x12,4-M6x :
B S1 B, S2 FAB-060 -L2 14 151 12

* CI~CTRATIREDIAEERZ R T AR R ERKPIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

007



5 R~FE% /OUTLINE DIMENSION SHEET

FAB-090-L1

BN / INPUT

7

A4

C7

50

1
C7

FAB-090-L2

N / INPUT

<

cr
450

1

”?ﬂ?_ M8x1.25P

i M8x1.25P .
(B 2
N7 BN
@22n6 @226
AT S1 iEI= S2

@80n7

" i / OUTPUT
48 cs
365 8 9
L 28 | l 3
] O )
gm0 s CoH s
Q 1 | 1 Oy O
19 ! = kcée%/
19 — )
o co
c10 W 4-97
c4
c9 % / OUTPUT
48 c8
36,5 8 90
4 28 — &
©!
= ettt 8 fc;\ S
P | . (&)
y T e A
ki / C10 _//(8%
1 c4 @116; 407

S R I G D

@290  4-M5x12,4-M6x14 @19 42 @70 6.5 147
FAB-090-L1 @100 4-M6x14 216 42 @80 65 86 99 147 6
2115 4-M8x20 219,022 565 @95 8 100 114.5 162.5 16.5
@145 4-M8x20 219,022,024 59 @110 11 130 117 165 19
266.7 4-M4x10 a8 34 @381 5 60 123 171 55
@70  4-M4x10,4-M5x12 211,214 34 @50 5 60 123 171 55
FAB-090 -L2
@90  4-M5x12,4-M6x14 @19 42 @70 65 80 12951775 12
@100 4-M6x14 216 42 @80 6.5 86 12951775 11
* C1~CTRAFIREDIAEE R R T, AIiREE R ERKBIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

008




5 R~FE% /OUTLINE DIMENSION SHEET

BN / INPUT #tHis / OUTPUT
C9
65 C8
51 10,
i
& b 40 !
O |
° 2 EE fal kR
1
1
& 212 | [ e
H ]
2 || k et
c4
MR/ INPUT 413 /OUTPUT
o
65 cs
51 o
) = —
1 I
1
El e~ 5 T = 5
= e e i A 1 s <
28 |2 H (| _fl_cs
i 10
12 c4

MIZAIP
~ . 2145 4-M8x20 219022024 64 @110 10 130 134 199 195

O 8 FAB-115-L1
2200 4-M12x28 235 81 @114.3 10 180 151.5 2165 28
m 290 4-M5x12,4-M6x14 219 42 @70 65 80 150.52155 7
FapisLy 2100 4-M6x14 216 42 280 65 86 15052155 6
W 81 Al s2 2115 4-M8x20 219022 565 @95 8 100 166 231 165
2145 4-M8x20 219022024 59 @110 11 130 1685 2335 19

* C1~CTRABIRESINERR Z R IS A 2R EAMEM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

009



5 R~FE% /OUTLINE DIMENSION SHEET

FAB-142-L1

BN/ INPUT fti/OUTPUT
co
o c8
79 12
6 65 " &
1 ¥
| |
- 1ol
g = o T &8
Fict B [ H RS
= C
L ce
36 3 i I o
[ | | T
15 I c10
c4
FAB-142-L2
AR/ INPUT EHiwm/OUTPUT
c9
o7 c8
79 12 142
2y —~
5 65 ] ' &
| | — !
= [FE T, =4 5 o~
8 P — I S -
1
| || 1
% | 3 , . s | e |
1
== : ,
= 1 401t \ 2186
c4

e

- FAB-142-L1 @145  4-M8x20 222,024 72 @110 11 130 155 252 195
@200 4-M12x28 @35 815 @1143 8 180 165 262 25
@145  4-M8x20 @19,022,024 64 @110 10 130 199 296 19.5
FAB-142-L2
@200 4-M12x28 @35 81 @1143 10 180 216.5 3135 28

U7t S1 U5t 52
I I " CI~CTRABIREDAERTS R AIHRBEF BRI,

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

010



M R ~FE% /OUTLINE DIMENSION SHEET

FAB-180-L1

NI/ INPUT 0 §iiR/ OUTPUT
a 105 (8
o s 180

Q/\ © © /\Q ;\}\ 6] 70 ' :3-, ®\ /®

f\@ 2 | — @

5 6 } g =P e g
© : J © N 6 -
N N/ b2 e = Ve
2 © ©° b i\‘\\\__:
€2 20 10
Ch
FAB-180-L2
HINI®/ INPUT 9 % /OUTPUT
105 8
— ) T s 180

s AL Je \EE— . B

\ @ 6| 70 - ” &
e = ol 1 71/

© 4 S| | ol U S

A=y~ ” e
A== A w2 | 2l i e % =
®ﬁ @@8 (1 7 T & L *’0\@
. @ 20 ol \
$5e S Ch
HHH#E
R~ C1 (07] (OX] C4 C5 Cé | C7 | C8 Cc9 | C10

16h9

M20x2.5P M20x2.5P @200 4-M12X28 @35,042 82 1143 8 180 178 283 85
s AN FAB180-L1 @200 4-M12X28 @42 1175 @1143 8 180 2135 3185 455
\{/

@215 4-M12X28 @38,042 87 @180 8 192 183 288 15

59

#55h6 #55h6 @145 4-M8X20 @22,@324 72 @110 11 130 231 336 195
iA=L ST BT S2 FAB180-L2 @200 4-M12X28 @35 815 @1143 8 180 241 346 25
@215 4-M12X28 @38 82 @180 8 192 243 348 25

* C1~CTRARIREDIAERIR Z R ATRES A ERBIREH.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

011



5 R~FE% /OUTLINE DIMENSION SHEET

FAB-220-L1

N/ INPUT 3645 HiHim/OUTPUT
1% 265
. - 220
D
7.9
gD — i B8
= T SUES
0|3 7
D
4M12x30 “ =
FAB-220-L2
NI/ INPUT s % /OUTPUT
138 217
105 2 ~

/4

@180n7
|

T

\

|

|

|

|

\

|

T

T

|

.
~ |

2114367

5o
]
w
\Y,
o T
(3]

4-M12x30 30

HH

20n9
M20x2.5P

a ?
o
m '\

\
@756

BINSIREERC RY RIS P ERRIREM.
*The input motor specific dimensions could be customised.

WAdt S1 AN 82

012



